1.

9 O] Al 25 o AlELe 9ol HEghS

Tafolat,

9 9 AlEL: -3, 3
25 Ol Al -5, 5
(-3) + (-5) = -8




e 5 5 A5 da AT $2 AL T A mEw?
@) ViB+1<2-1 @ 2V5+ V7> V5 +2V7
@3«/5-4«/&4«/5—3«/5 @ 3v5-3>5V5-2

— V10 <5-2+10

~&B

@ 2V5+ V7> V5 + 27

2V5+ V7 - V5-2V7= V65— V7<0
L2V + VT < B+ 27
@3V5-3>5vV5-2
3v56-3-5v54+2=-2V5-1<0
2 3V5-3<5v5-2

® 3- V10 <5-2+10
3-VI0-54+2VI0=-2+4 V10> 0
. 3-+v10>5-2v10




3.

-Vd<x< V15 7F AHsHE 4

od od oA
L (LA 1]

v v VvV Vv VvvyvVvVvVvyvyvyy
0x
i

0
it

B

it

o

T x & B F5tofeh

—Vi=

—20|BZ —2<x< 15

—2<x<0°%A x=-1,0
0<x< V15 xE=0<x2<15 2 AHoFslRR x=1,2,3
wHebA] x = -1,0,1,2,3 oJt}.




4. ADS xol Bstel 1 <x <509 W, VIR ARSI HES s
£ x9] g2 otolet

iy

i

0
i
=
I
DO
(e

0
n
=
I
S
ot

v VvV vy vy
0
o
=
|

20x =22 x5 x x O|B2
x=5, 22x5, 32x5, 2¢x5---
1<x<500|B2 x=5,22x%x5,32x%x5 o|th




5. 35-n o] A47} HEE sHs A4 g 0] A4S Fatelet

38-n=36=>n=2
38 -n=25=>n=13
38 -—n=16 =>n=22
8 -—-n=9=>n=29
8-n=4=n=34
38-n=1=n=37
38-n=0=n=38
webA] n =7 7ol




O
=

o %

4

® V6

@ V6

2-4

O 2

2<V6<30lB2 62 A
2< V8<30E& V8o A




)
—_

bl

<
o

@ A=

® A%

=

o)

—

0

bl
i




o o)A aPQRS & AA R
7}go]1, PQ = PA, PS = PB

oty = A4 A, B9 x 9o HEE iq Q
L2y a, bt S W, a+b O] TS / Y

s Y, )
Totelet B4 2P 0 2A 4

>
> HE! a+b=-2

PQ=PS=+v22+32= 13

A(-1+ V13) , B(-1- V13) °|E2
a=-1+V13,b=-1- Vi3
na+b=VI3-1+(-V3-1) = -20|k




thS 104 AEFH ¢] Yol71 8 & ul, AH

9

@ 8 @) V8 ® V2
@ V3 ® 5




10. S A4% g, b7ta=V8-3,b=-\VT+ V8L, & F 22
A9

A !

@D a-b>0 @ b-a<0 ® b+ V7>3
@ ab>0 @a+1>0

B
Da-b= \/§—3—(—‘/7+ ‘/g)

=Vi-3=+V7T-vY9<0
La-b<0
@b-a=-V7+ 8- (V8-3)

=—V7+3=v9-V7>0

Lb—a>0

@ FH=b+ VT=-VT+ V8+ V7= V8
SR=3=10

L b+ V7T<3

@a=V8-3=V8-V9<0

b= V8- +V7>0

Soab< 0

®a+1=(V8-3)+1=V8-2= V8- VI>0
La+1>0




11. 41< vx <565 W&t A x o G FAN M 2 S a,
NEAEFEbRL T W, a+b O FOE AL HLY

® 42 @ 45 (@)48 @ 51 ® 54

B ,

4.1 = V16.81, 5.6 = V31.36 0|22
16.81 < x < 31.36

a=31,b=17
a+b=17+31=48




12, VBx 7} 49147t 571 917« & B b7 (2 x < 20 & A

°oltt)
@ 2, 8 @ 2, 4,38, 16 ® 289
@2, 8, 18 ® 2, 8, 19

V8x = V23 x x

x=2, 23, 2x 32




13. TS = V35— x 7} AA57} 57 sk A x 0 ZHe?

1 @3 ® 5 @ 7 )10

~&B

@ V35-1 = V34 0|1 34 = AFL7} ol B R AAL7}
=] 2] FEtt.

@ V35-3 = V32 °]1 32 & AFLIT oY ER AHALT}
=] 2] F=tt.

® V35-5 = V30 °|1 30 & AFS7t ot R R 2 AS7F
=] e

@ V35-7 = V28 ©]1 28 £ AFLTF oY ER AHLT}
=] =

® V35-10 = V25 ©]11 25 = 52 o] B &2 A4 5 7} Hr},




14. V5Ol &% HESa, VIO A5 RELH AT W, atb o S
Tt
@ vs @ V5+1 ® V5-1
@ V542 ® V5-2

2< V5 <30|BR 5o 4 HEL 9

2< V7 <3082 7T ASLHB L9

a+b=V5-2+2= 15

<




ol
™
ol
o8

olig
Njo

ol

O FYFE 442 UEYH &8

@ 5 R4 V3 7 V5 Aeloflis 255 BRe g4t 9lr.

® F A% -1 7 3 Aolel

—




